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1. =A% - MEE (cosh, (0 <0 < 2m))

2 )
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@  COS—T = G COS—/—T = ® Cos 2T =
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10 COS —T = an Ccos —m = 12 COS—T =
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2. ZARBM - WEZE (cosh, (0 <6 < 2m))

3 5
@ Cos —T = @ COS—T = @) COST =
4 4
1 2
@ COS—T = (5) cos 2w = 6 COS—T =
2 3
1 5) 1
(M COS —T = 8 COS—T = 9 COS—T =
3 3 6
1
(10) COS —T = a1 Ccos —T = (12) COS —T =
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4 2 1
13 COS —T = (14) COS —T = 15 COS —T =
3 3 2
(16) COS —T = amn Cos —T = (18) COS —T =
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(19) COS—T = (20) Ccos2m = (21) COS —T =
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(22) COS —T = (23 COS—T = (24) COS —T =
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@5 COS —T — (26 COS —T — @n COS —T =
4 3 4
1 1 1
28 COS —T = 29 COS —T = (80) COS —T =
2 3 6
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3. =AM - WEZE (cosh, (0 <6 < 2m))

3 2
@ COST = @  COS—T = @ COS—T =
6 3
4 1 1
@  COS—T = G COS—T = ® COS—T =
3 4 2
1
M  COS—T = ® COS—T = ©) COST =
4 3
1
10 COS —T = an Ccos —m = 12 COS—T =
6 2 6
1 2 1
(13 COS —T = 14 COS —T = 15 COS —T =
4 3 2
(16) COS —T = an cos2m = (18 COS—T =
6 4
1 3 1
a9 COS —T = @0) COS—T = @1) COS—T =
3 4 6
22) COS—T = 23) COST = @4 COS—T =
4 6
@5 COS —T = @26) COS —T = @D COS —T =
3 2 3
3 1 1
28 COS —T = @9) COS —T = (B0) COS—T =
4 3 4
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4. =AM - WEZE (cosh, (0 < 6 < 2m))

3 3 2
@  COS—T = @  COS—T = @ COS—T =
2 6 3
1 >
@  COS—T = G COS—/—T = ® COST =
6 3
1
M  COS—T = ® COS—T = ©® COS—T =
4 4 4
4
10 COS —T = an Ccos —m = 12 COS—T =
6 6 3
2 1
(13 COS —m = 14 COS —T = 15 COS —T =
3 2 6
1
(16) COS —T = an Ccos —7m = (18 COS—T =
4 4 6
1 7 1
a9 COS —m = @0) COS—T = @1) COS—T =
2 4 3
22) COS —T = @3) COS—T = @4) COST =
6 6
@5 COS —T = @26) COS —T = @D COS —T =
4 3 3
7 1 2
28 COS —T = @9) COS—T = (B0) COS—T =
6 2 3
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5. ZARBRM - WEE (cosh, (0 <0 < 27))

7 1 1
@ Cos —T = @ COS—T = @ COS—T =
4 3 4
11 5 5
@ COS—T = (5) COS—T = 6 COS—T =
6 3 6
1 1
(M  COS —T = 8 COS—T = 9 COS—T =
6 2 4
1 2
(10) COS —T = a1 Ccos —T = (12) COS —T =
6 4 3
13) COS T = (14) COS —T = 15 COS —T =
6 4
1 1
(16) COS —T = amn Cos —T = (18) COS —T =
6 4 3
1 1
(19) COS—T = (20) Ccos2m = (21) COS —T =
2 4
(22) COS —T = (23 COS—T = (24) COS —T =
6 3 6
(25) COST = (26 COS —T — @n COS —T =
4 4
11 5
(28) Ccos 2T = (29) COS Fﬂ' = (30) COS FW =
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6. =AM - WEE (cosh, (0 <0 < 27))

1 7 2
@ Cos —T = @ COS—T = @ COS—T =
4 6 3
3 1 1
@ COS—T = (5) COS—T = 6 COS—T =
2 3 6
1
(M  COS —T = (8 COST = 9 COS—T =
4 2
11 3 1
(10) COS —T = a1y Ccos —T = (12) COS —T =
6 4 4
1 2
13 COS —T = (14) COS —T = 15 COS —T =
3 3 6
1 1
(16) COS —T = amn Cos —T = 18) COST =
6 2
(19) Ccos 2w = (200 COS —T = (21) COS —T =
4 6
(22) COS —T = (23 COS—T = (24) COS —T =
4 3 6
11
@5 COS —T — (26 COS —T — @n COS—T —
6 4 3
1 7
(28)  COS ?ﬂ' = (29) COS Fﬂ' = (30) COST =
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7. =AM - WEE (cosh, (0 <0< 2m)

3 1 5
@ Cos —T = @ COS—T = @ COS—T =
4 2 6
5 2 1
@ COS—T = (5) COS—T = 6 COS—T =
4 3 6
1 1
(M  COS —T = 8 COS—T = 9 COS—T =
6 4 3
(10) COST = a1 Cos —T = (12) COS —T =
2 6
2
13 COS —T = (14) COS —T = 15 COS —T =
4 3 4
1
(16) COS —T = amn Cos —T = (18) COS —T =
6 3 4
1 1
(19) COS—T = (200 COS —T = (21) CosS 21 =
4 3
11
(22) COS —T = (23 COS—T = (24) COS —T =
6 6 6
@5 COS —T — 26 COS —T — @7 COST =
3 4
1 1 1
28 COS —T = 29 COS —T = (80) COS —T =
2 3 4
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8. =AM - WEE (cosh, (0 <0< 2m))

) 7 2
@  COS—T = @ COS—T = @ COS—T =
6 4 3
) 3
@  COS—T = ®) COST = ® COS—T =
3 4
1 1 1
M  COS—T = ® COS—T = ©® COS—T =
3 6 4
2 4
10 COS —T = an Ccos —Tm = 12 COS—T =
4 3 3
1
(13 COS —m = 14 COS —T = 15 COS—T =
2 4 2
1
(16) COS —T = an COST = (18 COS—T =
3 6
2 4
a9 COS —T = @0) COS —T = @1) COS—/—T =
6 3 3
22) COS —T = @3) COS—T = @4 COS—T =
6 2 3
@5 COS —T = 26) COST = @D COS—T =
3 4
2 D 1
28 COS —T = @9) COS—T = (B0) COS—T =
3 6 4
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9. =AM - WEE (cosh, (0 <0 < 2m))

1 D 1

@  COS—T = @  COS—T = @ COS—T =
6 3 3
1 3

@  COS—T = ®) COST = ® COS—T =
2 4

1

M  COS—T = ® COS—T = ©) Cos 2T =
6 4
1

10 COS —T = an Ccos —Tm = 12 COS—T =
6 3 2
1 2

13 COS —m = 14 COS —T = 15 COS —T =
3 3 4
1 1 1

(16) COS —T = an Ccos —7m = (18 COS —T =
2 4 6
4

a9 COS —T = @0) COS —T = @1 COST =
3 6

22) COS —T = @3) COS—T = @4 COS—T =
2 4 2

@5 COS —T = @26) COS —T = @D COS —T =
4 3 3
) 3 11

28) COS —T = @9) COS —T = (B0) COS—T =
6 4 6
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